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QUESTION 1

An administrator in a company of 349 users has a pair of AOS-CX switches with connections to external networks. Both
switches are configured for OSPF. The administrator wants to import external routes on both switches, but assigns
different seed metrics to the routes, as well as imports them as external type-1 routes.

What is the best way for the administrator to accomplish this?

A. Create a route map with the correct route type and metrics

B. Define the route type and metrics in the OSPF process

C. Create a classifier policy with the correct route type and metrics

D. Define a class and policy map with the correct route type and metrics

Correct Answer: A

QUESTION 2

What is required when implementing captive portal an AOS-CX switches?
A. Certificate installed on the switch

B. Web server running on the switch

C. Device fingerprinting

D. AAA server

Correct Answer: D

QUESTION 3

An administrator implements interim accounting for guest users so that ClearPass can track the amount of bandwidth
that guests upload and download. Guests that abuse bandwidth consumption should be disconnected from the network.
The administrator configures the following on the AOS-CX access switches:

Accessl(config)# ip dns host cppm.arubatraining.com 10.254.1.23 vrf mgmt

Accessl(config)# radius-server host cppm.arubatraining.com key plaintext arubal23 wrf mgnt

Accessl(config)# aaa group server radius cppm

Accessl(config-sg)# server cppm.arubatraining.com vrf mgmt

Accessl{config-sg)# exit

Accessl(config)# aaa accounting port-access start-stop interim 5 group cppm

Accessl(config)# radius dyn-authorization client cppm.arubatraining.com secret-key plaintext arubal2? vrf mgmt replay-
protection disable

After performing this configuration, the administrator notices that guest users that have exceeded the guest bandwidth
limit are not being disconnected. Upon further investigation, Access Tracker in ClearPass indicates a disconnect CoA
message is being sent to the AOS-CX switch.
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What is causing this issue?

A. RADIUS change of authorization is not enabled on the AOS-CX switch.

B. Bandwidth consumption of the guests is not being reported by the AOS-CX switch.
C. NTP is not configured on the AOS-CX switch.

D. There is a time discrepancy between the AOS-CX switch and ClearPass.

Correct Answer: A

QUESTION 4

When cutting and pasting configurations into NetEdit, which character is used to enter commands within the context of
the previous command?

A

B. ">"

C. Space
D. Tab

Correct Answer: D

QUESTION 5

An administrator is designing an access layer solution in a data center. A key requirement is to dual-home mission-
critical server connections to two different switches, ensuring that the servers always have network access, even during
switch software upgrades. This feature should support strictly-controlled provisioning.

What would best meet the administrator\\'s needs when deploying AOS-CX switches?

A. VSF

B. Dynamic segmentation

C. VSX

D. NAE

Correct Answer: C
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